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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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What do you mean by Accounting Principles ? Explain
its importance.
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What do you understand by Depreciation ? Explain any
four methods of depreciation with the help of suitable
examples.
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On 1 January, 2016 Mr. Vikas purchased a machine
from AAG Ltd. of cash value ¥ 45,000; on the
instalment purchase system, paying I 3,000
immediately and the balance in three equal yearly
instalments of ¥ 15,000 each beginning from 31
December, 2016. The vender charges 3% interest per
annum. Assuming that the buyer depreciates the assets
annually at 10% on diminishing value give journal
entries for three years in the books of Buyer and
Vendor.
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What do you understand by Branch Account ?
Describe the objects of Branch Accounts.
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Section-B / Yvs—Yg
(Short Answer Type Questions) / (75 ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :

1.

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Basic features of Receipts and Payments Account.
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Discuss the importances of sectional balancing system.
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Differentiate between Capital Reserve and Revenue
Reserve.
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Differentiate between postulates and principles of
accounting.

BT B WG ATl Td gl § SR
qdry |

Differentiate between Hire-Purchase System and
Instalment Payment System.

fehRTIT-sha UGl 9 foheed I Ugfd H o<k 9arsy |
Differentiate between Journal and Ledger.
SMdl U4 @Il H 3R adgy |

Journalise the following transaction in the books of
Y & Co.:

3
April 1 Started business with cash 2,00,000
April 4 Good purchased from Suneel 25,000
April 10 Wages paid 5,000
April 18 Cash Sales 40,000
April 25 Salary paid 25,000
April 30 Goods sold to Ram 20,000

frferRad &aeRl &1 Y & Co. @ XAl § ol
DIFTT

3
3 1 e A I RWT fobam 2,00,000
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A 4 Al | ATl B b 25,000
A 10 AT YA 5,000
AU 18 DG fdshl 40,000
dUet 25 o faam 25,000
JUA 30 M I AA d1 20,000

Enter the following transactions in single column cash
book :

4
April 1 Started business with cash 1,25,000
April 10  Goods sold for cash 45,000
April 12 Furniture purchased 25,000
April 19  Good purchased for cash 50,000
April 25  Rent paid 7,000
April 30 Insurance paid 12,000

fferRad T9-gHl &7 T @M dTell Adbs dal § okl
DI

q
AW 1 dhe F AR IRA b 1,25,000
A 10 Ade fam 45,000
WA 12 BereR HY fhar 25,000
A 19  Tde By 50,000
aiiet 25 o fea 7,000
aiiet 30 9 fea 12,000
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Section-C / GUvs—1T
(Objective Type Questions) / (@S J)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Choose the correct alternative :
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1.

According to .......... it is assumed that the business will
continue for a fairly long time to come.

(@) Going Concern Concept

(b) Business Entity Concept

(c) Money Measurement Concept
(d) None of these
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Goods sent on consignmentis a .............. Account.
(@ Nominal

(b) Personal

(c) Real

(d) None of these
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The prime function of Accounting is :
(@) Record financial data

(b) Record all business transactions
(c) Interpret the financial data

(d) None of these
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Expenses and losses not yet written-off and shown as
asset in the Balance Sheet is known as :

(@) Intangible Assets
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(b) Fictitious Assets
(c) Fixed Assets

(d) None of these
W @y q gt o onft a@ fifeRed 7 fey U
g, BB o :

. Outstanding Salaries are shown as :

(@ An expenses
(b) A liability
(c) An assets

(d) None of these
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Under convention of conservation, stock is valued at :
(@ Cost Price
(b) Market Price
(¢) (a) or (b) whichever is less
(d) (a) or (b) whichever is higher
AN B YA & QMR ST F Jeuid Bl
g
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Which of the following is/are the method(s) of
depreciation ?
(@ Annuity method
(b) Written down value method

(c) Straight line method
(d) All of the above

o & & o990 g™ o uglt/vghl 8/
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The Balance of Head Office Account of a foreign
branch is converted at :
(@ Opening Rate
(b) Closing Rate
(c) Average Rate
(d) None of the above
focell @@ & g= e @ AW A P R/ W
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Goodwill is which type of asset ?
(@) Intangible
(b) Fixed
(c) Current
(d) Tangible
=1 {6 UaR B F9RT § ?
(@) GT*F?
(@ R
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@
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10. The types of Accounting :
(@) Financial Accounting
(b) Cost Accounting
(c) Management Accounting
(d) All of the above
TGIH B TIR ¢ -
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